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1| BETLHE = 48,315,533 = 54,858,138 6,542,605 |H4%H
| EREHELE = 1,097,571 2V 1,097,571 0
| BEWERE T = 1,294,390 FaV 1,294,390 0
HETEE 50,707,494 57,250,099 6,542,605 H4%E
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1| EGEeE =X 4,016,503 =X 4,219,482 202,979 |H4%R
I| BEEHE X 7,767,628 = 8,277,166 509,538 HA%H
| —EEE =X 6,355,397 =X 7,065,344 709,947 H4%R
Hem e E 18,139,528 19,561,992 1,422,464 %R
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A-3 |- BIETE £ 3,684,889 = 8,795,988| 5,111,099 H4%E
A-4 AT £ 29,827,885 = 29,827,885 0
A-5 | FOh T3 oY 598,244 = 598,244 0
A-6 |- sy = 822,592 = 822,592 0
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